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1
1.1
1.1.1
G.L.(m) 0.000
G.L.(m) -6.000
q kN/m? 10.00
1.1.2
No N ) Co K
G.L.() | G.L.(m) KN/ | (kN/m) (KN/m) | (kN/mY) | G.L.(m)
1 0.000 -6.000 15.0 18.0 9.0 30.0 0.0 0.0 0.000
2 -6.000 -8.000 15.0 18.0 9.0 30.0 0.0 0.0 0.000

FORUMS8



1.1.3
| 36. 00 Lo
0. 000 36. 00 02000
36. 00
(]
o
<o
©
—6. 000 36. 00
AN
@
G.L.m (G.L. 0.000)m
G.L.m (G.L. 0.000)m
G.L.m (G.L. -6.000)m
% kN/m* | 18.00
q vy m 0.556(G.L. 0.556)m
m 6.000
a |H  a |- 1.000
b m 6.000(G.L. -6.000)m
b |- 2.000
p aby kN/m* | 36.00
)
No Li , S -
Y y ' iLi
G.L.(m) | G.L.(m) | (M) (KN/) (kN/m)
1 0.000 -6.000 | 6.000 18.0 108.00
b2 6.000 108.00
Y Xy h Zh 18.00(kN/m*)
©))
No h
GL(m) pa
(m KN/
1 0.556 | 0.556 36.00
0.000 36.00
2 0.000 | 6.000 36.00
-6.000 36.00

FORUMS8




1.2
1.2.1
l 36. 00 =
0. 000 36. 00 02000
36. 00 17,77
0. 450 -
()
.
~ 36, 00 47,77 _
1.700 36. 00 36. 00 S
5 900 36,00 36. 00 :
* 36. 00 36. 00 <
()
Lo
[aN]
~ 36, 00 36, 00
3. 450 36. 00 36. 00
<
Lo
[aN]
B 36, 00 36, 00
4.700 36. 00 36. 00
<
<
o
—6-000K\ 36. 00 36. 00
(€H)
1
No h p P
6LM | my | Kk KN/m
1|  0.556 | 0.556| 36.00 | 20.02
0.000 36.00
2| 0.000| 1.700| 36.00 | 61.20
~1.700 36.00
s 2.256 81.22
H=1.700 m
D= SP H=47.77 kN/m?
2
No h p P
GLOM | m) | kit KN/
1| -1.700 | 0.500 | 36.00 | 18.00
~2.200 36.00
s 0.500 18.00
H=0.500 m
D= P H=236.00 kN/m’

FORUMS8




@

3
No h p P
6L | my | Kk KN/m
1| -2.200| 1.250 | 36.00| 45.00
~3.450 36.00
s 1.250 45.00
H=1.250 m
pe=XP H=36.00 kN/m
4
No h p P
6L | ) | K/t KN/
1| -3.450 | 1.250 | 36.00| 45.00
~4.700 36.00
s 1.250 45.00
H=1.250 m
pe =P H=36.00 kN/m
5
No h p P
6L |y | kv KN/m
1| -4.700| 1.300| 36.00 | 46.80
~6.000 36.00
s 1.300 46.80
H=1.300 m
pe= %P H=36.00 kN/m
Ws = Pq Bx
W: AT A R L —/LOVERTE (KN/m)
pa: 5% 5T HE (kN/m?)
B A5 A FL—LFIME @ B=3.000m)
NO. Is pd ) Ws
G.L. (m) | G.L. (m) m kN/m kN/m
1| -3.450 | -4.700 1.250 36.00 108.00
2 | —4.700| -6.000 1.300 36.00 108.00

FORUMS8



(m

1.2.2
@
M = Pa * LDZ
8
M : (kN.m/m)
pa: (kN/m?)
L: (m
L, =B, -2 d=3.000 - 2x 0.050 = 2.900(m)
B.: (m)
Pa , M
No. | 5 . m | 6.L. (m kN/m kN.m/m
1 0.000 -1.700 47.77 50.22
2 -1.700 -2.200 36.00 37.84
3 -2.200 -3.450 36.00 37.84
4 -3.450 -4.700 36.00 37.84
5 -4.700 -6.000 36.00 37.85
)
M
No. | G.L. (m) | G.L. (m) KN.m/m
1 0.000 -2.000 50.22
2 -2.000 -4.000 37.84
3 -4.000 -6.000 37.85

FORUMS8



1.2.3
ABC
€Y
108. 00kN/m 108. 00kN/m
AAAAARAARAAAAAAAARARAAAAAAAAAARAR ARAAAAAARAAAAAN
A B
1. 250m 1. 300m
L. W
G.L. (m) | G.L. (m) m KN/
AB -3.450 | -4.700 1.250 108.00
BC -4.700 | -6.000 1.300 108.00
(DA
Ws 'Lsz - Ws .LSZ
RA — 1 1 2 2
2'LS1
_108.00X 1. 250" — 108. 00X 1. 300’
2X%1.250
= -5.51 (kN)
R, (ASIZ BT B K7 (kN)
W.: : ABFH] D4 17 2 (kN/m)
W : BCR D AEH fir 2 (kN/m)
L. :ABRG A X2 £ (m)
Ly BC A E (m)

FORUMS8



®

4

_<W51 * lez + WSZ * LSZZ)

QBA -

2+ La
—(108. 00X 1. 250 + 108. 00X 1. 300%)
B 2% 1. 250
= —140. 51 (kN)
Qe = W Lo
= 108. 00X 1. 300
= 140. 40 (kN)

Q :MaX(‘QBA‘, ‘QBC‘)
= Max(140. 51, 140. 40)
= 140. 51 (kN)

Qe ABEIZ & BB 8 AW F7 (kN)
Qec: BCMHEIZ & BB D AW FJ (kN)
Q EREAMTS(KN)

WSZ * LSZZ
2
108. 00 X 1. 300*
2

91. 26 (kN. m)

FORUMS8




1.2.4

N:pd'ls'Bx

N E80E Y 577 (kN)

pe: % FFEE (kN/m?)

180X Y o LESHEEFE R (n)

BT A KL—/ARFE@m B=3.000(m

d N

No- &L m .. | L v kN

1| -0.450| 0.000| -1.700| 1.700 47.77 243.65
2 | -1.700| -1.700| -2.200 |  0.500 36.00 54.00
3| -2.200| -2.200| -3.450| 1.250 36.00 135.00
4 | -3.450| -3.450| -4.700| 1.250 36.00 135.00
5 | -4.700| -4.700| -6.000 |  1.300 36.00 140.40

FORUMS8




o ERIFS B (N/mm?)
oa: AT ISR (N/mm?)
CERCRHNSE— A B

Z o WrinfRik

No. ol . o o8
x 10°(N.mm/m) | x 10°(mm’/m) N/mm N/mm
1 50.22 255.00 197.0 210.0
2 37.84 255.00 148.4 210.0
3 37.85 390.00 97.0 210.0

FORUMS8
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1.3.2
45.0
@
SS400
tf cm 1.90
tw cm 2.55
b cm 20.40
h cm 36.80
| x 10*(mm*) 31170
)
M Q
x 10°(N.mm) x 10°(N)
91.26 140.51
€))
L
—=4.5 : oa =210
b
L L
4. 5<E§30: oa = {140—2.4(3—4. 5] X1.5
o a: (N/mm?)
L : (cm)
b : (cm)
L b oa
(cm) (cm) L/b (/)
130.0 20.4 6.4 203.3
)
M h
0 =—X— = oa
I 2
o : (N/mm?)
o a: (N/mm?)
Mo (N.mm)
: (mm*)
h : (mm)
o oa
N/mm? N/mm?
53.9 203.3 o

FORUMS8
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®

(N/mm?)

(N/mm?)

Q)

(mm)
(mm)
(mm)
(mm)

(mm)

T
N/mm?

20.2

FORUMS8
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2
2.1
2.1.1
@
No. (kN)
1 243.65
2 54.00
3 135.00
4 135.00
5 140.40
)
SS400
A x 10°(mm?) 28.10
Z x 10°(mm®) 85.30
r (cm) 4.36
W; x 107°(kN/m) 430.0
(B-2x ) 2x 2 (m 0.500
= 1.600(m)
=B-2x =1.600 - 0.500 = 1.100(m)
2.1.2
Wj M L2
M =
8
0. 430X 1. 100* o
= # = 0. 065 (kN. m)
M 7R T i 77 (kN m)
W BEAZ R B (kN/m)
L : g & (m)
2.1.3
L
—=18 oa = 210
r
L L
18<—=92: oga = [140 - 0. 82(— - 18] | X1.5
r T
L 1200000
92<— ! oa-= -
r 6700 + (L/1)
ga (N//mm?)
L : (cm)
r (cm)
L r oga
(cm) (cm) L/r (N/mm)
110.00 4.36 25.23 201.1

FORUMS8
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2.1.4

(&)

o

N M
_+_
A Z

Hi T FEAR G D BE (N/mm®)

A

o a: BT A FFAERIG /) B (N/mm”)

N ElR (B &)
A TR
M CHEIZLAITE—2A2
7 Wi fREL

No. | IO%N) x 10Qmm3 x ld%k.mm) x 1o§mm5 N/ N/t
1 243.65 28.10 0.065 85.30 87.5 201.1
2 54.00 28.10 0.065 85.30 20.0 201.1
3 135.00 28.10 0.065 85.30 48.8 201.1
4 135.00 28.10 0.065 85.30 48.8 201.1
5 140.40 28.10 0.065 85.30 50.7 201.1

FORUMS8
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